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@ QuicSonTes 66 private void displaceDown(int index) {
> I target 67 int largerChild;
M pomxml
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E int rightChild = leftChild + 1;
2 if (rightChild < currentSize &&
E 73 heapArray[leftChild].getElement().compareTo(heapArray[rightChild].getElement()) < 0) {
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75 1L alea S
K Gt =ToD0 @ Problems B Terminal  ©) DB Execution Console & Build @ Event Log

[0 Intelli) IDEA 2021.1.3 available // Update_. (15 minutes ago)

r)

i tobnine 836 CRLF UTF-8 4spaces P master & 8



Kann. ¢iz.-mat. nayk IBan PoBeupkuii “AJIroputmu ta CTpyKTYpu AaHUX

B fle Edit View Navigate Code Analyze Refactor Build Run Tools Git Window DB Mavigator Help  basic algorithm [CAUsers\rovet\Documents\projectsibasic algorithm] - Heapjava - X
basic_algorithm ' src - main | java | data ' structure | @ Heap | ¥ displaceDown B A HeapTest v B # G Gt ¥ A 5 Q0P
4 Pr @ Z = | @ — @ Nodejava & HeapTestjava & BasicAlgSontTestjava pomaxmi (basic_algorithm) & CommonTestjava €| Collectionsjava i) Comparable java @ Heapjava @) PriorityQueue java & v =
E g basic_algorithm 6~ v
> W idea ® private void displaceDown(int index) { s
® v M o
£ ~ I main int largerChild; ~
8
° v Node<T> top = heapArray[index]; g
v data structure . ) ) E
E ® Heap while (index < currentSize / 2) {
N N . m
: :Nm’e int leftChild = 2 * index + 1; z
2 Queue H
Qa @ stack int rightChild = leftChild + 1; .
© BasicAlgSort - . - .
i ® ouicisort if (rightChild < currentSize &&
& resources heapArray[leftChild].getElement().compareTo(heapArray[rightChild].getElement()) < 0) {
= v Mtest . . .
™ v Mjava largerChild = rightChild;
> [ datastructure } else {
© Comman? R .
& HeapTest largerChild = leftChild;
@ QueueTes 1
@ StackTest . .
& BasicAlgSort if (top.getElement().compareTo(heapArray[largerChild].getElement()) >=0) break;
< Hrgﬂ‘“‘“sm“ heapArray[index] = heapArray[largerChild];
pomumi index = largerChild;
> Il External Libraries }
» P Scratches and Consoles
heapArray[index] = top;
5 }
H
8 }
o
H
i
*
B Gt =7000 O problems B Terminal  ©) DB Execution Console % Build @) Event Log
IO Intelli) IDEA 2021.1.3 available // Update_.. (16 minutes ago) itobnine 675 CRLF UTF-8 4cpaces P master w @3

1)

Puc.1. Peamizarisi CTpyKTypHu JaHUX MipaMian

Ha pwuc.2(a, 6, B, T) moJaHO MOMYJbHI TECTH IMIUIEMEHTAIl CTPYKTYPH JaHUX
mipamiJu, HaBeJIeHO1 BUIIE Ha puc.l

B Fle Edit View Navigate Code Analyze Refactor Build Run Tools Git Window DBMNavigator Help  basic_algorithm [CA\Users\rovet\Documents\projects\basic_algorithm] - CommenTestjava - X
basic_algorithm  src - test | java = data = structure @ CommonTest - A HeapTest * B # W Gt & « A 5 QO P
g Project v B I = & — @ Nodejava @ HeapTestjava @ BasicAlgSonTestjava pomxml (basic_algorithm) ® CommanTestjava & Collectionsjava 4, Comparablejava ® Heapjava v =
E g basic_algorithm v i
> idea @/ public class CommonTest { 2
® v M 2
£ v B main Random random = new Random(); o
3
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5 ® Heap List<Integer> inputElements = new Arraylist<>();
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a @ Stack @BeforeEach 3
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& HeapTest inputElements.add(getRandomElement());
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@ StackTest
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@ HeapTest
€ CueveTest 16 Node<Integer>[] actualHeapElements = heap.getHeapArray();
@ stackTest 17 Node<Integer>[] expectedHeapElements = buildExpectedHeap().toArray(Node[]::new);
& BasicAlgSortTest 1
& QuickSortTest )
> I target 19 @ assertThat(actualHeapElements)
pomaml . . .
> 1l Exteal Libraries 2 .usingRecursiveComparison()
> P Scratches and Consoles 21 .isEqualTo(expectedHeapElements);
}
g
E Rune HeapTest & -
2P vVe i r I @ I¥ o Testspassed: 2 of 2 tests — 188 ms
5 ¥ Test Results 8ms  "c:\Program Files\OpenLogic\jdk-17.0.7.7-hotspot\bin\java.exe"
g n v+ HeapTest
£l + inserthodeToHeapSuccess()
=  remaveNodeframHeapSuccess) Process finished with exit code @ »
Kot | ® R =T0oD0 @ Problems B Terminal [ DB Exscution Console & Build @ Event Log
|0 Tests passed: 2 {moments ago) i tabnine 245 P master W @
B file Edit View MNavigste Code Analyze Refactor Build Run JTools Git Window DB Navigator Help basic_algorithm [CA\Users\rovet\Documents\projects\basic_algorithm] - HeapTest java - g x
basic_algorithm  src * test  java = data  structure = & HeapTest 2 A HeapTest ¥ B & 0 Gt & A 5 Q0P
T Project ~ ¥ — © Nodejava & HeapTestjava @ pasicAlgSortTest java M pomxmi (basic_algorithm) © CommonTestjava € Collections java ), Comparablejava © Heapjava iv =
£ . basic_algorithm ect . N 3
- ) @Test “‘ 4
¥ v s (% void removeNodeFromHeapSuccess() { 2
£ v . .
3 . m";va Heap<Integer> heap = new Heap<>(inputElementsSize); 2
v 3 datastructure 2 for(int i=0; i < inputElements.size(); i++) { 5‘
& © Heap s : .
1 @ Node heap.insertNode(new Node(inputElements.get(i))); m
B ® Queve } £
a ® Stack ) -
. ® BasicAlgSort 51 Node node = heap.removeNode( index 5);
2
L ® Quicson 2 Node<Integer>[] actualHeapElements = heap.getHeapArray();
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